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TREER FEMRE2-1
W/C=50% (C/W=2.0) THEMIREN 28N/mm2, W/C=40% (C/W=2.0) THEMEIRED 43N/mm? 72D T,

JEffEsRE & A v bk (CIW) ORI f=za+bC/W ZRkH D L,
28 =a+ 2.0b, 43 =a+2.5b a=32, b=30

LR BHDT, JERERE L B A v K (CW) ORIFRARIE,

f =32+ 30 (C/W)
AON/mm2 Dz 7 ) — hERET 5 7-0121%, EXE T,

40 = 32 + 30 (C/W) CIW = 2.4

Lh, LN TERIEZR/KE A NIE, 1/2.4=41.6%F7-13 42%

EfE: 416% HH0NT 42%




ITAREER HFERME2-6
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w/ _Exloo 53.4%

2)

Pas0 «100 = 45.5%

A 80% 62+ 98%.69
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174 326 801 986
1.0 313 262 2.69

Air =1000 - [
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j—49.6 U kv




(3% MEH & BAKEDORTE] LV, sfa=43%., W=160kg. Air=5.0%,
sla b W Z#HET 5

X5 7= sla DHIE W DA IE
MR s 1095 05— 1025 _
(2.80—2.85) 1
7 v 7
[ 2 | - 2 12-124
(8—10) 1
WIC — _
005 ,_ . -
(0.55—0.50) 0.05 0.05
PR B As/a =0.25-1=-0.75% AW = +6%
i IER% OB s/a =43-0.75=42.25=42.3% | W =160><(1+ 0.024)=163.84 =164

vy =194 39
0.50
164 1328
R AR a =1000 — 27 — 32 50 _ 682
MO 10 315

e S =682x0.423% 2.62 = 756
MG =682x(1-0.423) x 2.65 =1043
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AE kI8 Ad = 328x ——— = 3.28k
AR 100 g

ar 7 U — hORGRLE

BN | 2507 | KAy | Z25& | WEH HiprE (kgim®)
DK DA N=a % K AL | B | MBS | IRFA
~HE wi/C sla k
(cm) w c s G Ad
(mm) (%) (%) (%)
25 10 50 5.0 42.3 164 328 756 1043 3.28




BEIE : AT 7% dem /NS5,

X5y s/a DA IE W D IE
AT 2T (12—8) — —(12-8)x1.2=-438
H i — AW = —4.8%
IR O — W =164 x (1—0.048) =156
A b RC =0 _31
0.50

156 312
Bk ozHia =1000 - =— - —-= —50 = 695
R 10 315

AER &S =694x0.423x 2.62 = 769
LM EG =694 % (1-0.423) x 2.65 =1061
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AE BokFE: Ad = 312x —— = 3.12K
AR 100 g

EE®Da 7 ) — bR FEA

HEM | AT07 | KkeAV | ERE | MEM Hirs (kg/m®)
5N DHIFH = =S 7K A A HEH | B
~hik wi/C sla k
(cm) w C S G Ad
(mm) (%) (%) (%)
25 10 50 5.0 42.3 156 312 769 1061 3.12
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